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e WolframAlpha s,
p

[ plot 4xA2y—x 3y—x"2y*2 ¥=—0.1 01y=39 41 B ]
Input interpretation:
x=-01 1w 01
plot  4dy-y—-x) /Contour plot H
y=39 to 4.1 _ :

M WolframAlpha szses.

[ plot 4xA2y—x*3y—xA2y"2 y=—01.0.1,y=—01.01 B ]

Input inferpretation:

plot 4l y-y-2)

x=-01 to 0.1

y=-01 1 01

& WolframAlpha

compatational.
knowlkdge englne

[ plot 4xA2y—xA3y-x*2y2, 3=1.9.21,y=0.9.11

Input interpretation:

plot

4x;y—rs_v—x]f

x=191t0 21

y=09 o L1

& WolframAlpha

105

-

computatonal.
knowledge englne

[ plot 4xA2y—xA3y—xA2y"2, x=3.9.4.1,y=—0.1.0.1

e

Input interpretation:

4?}‘—13_)!—1]_}']

x=39 to 41
y=-01 to 0.1

393

405




